12000 4T DIN 1SO 15552 ¥R A/

L5

7= miiEA

mE

% . %El%“o

maE  EHlESY.
JEEM @R 1.0503,
EEMTESBEHSE : PU,

g

EE : RS E,
s KBRLE,
EEN  KEERLE,

BR:
MAERASELIZ DIN ISO 15552 ¥R R A T £MEgIT |, SEEFFEHN
B, EENMERNThAER AR ERS

XSEERTEFEENGH  RitRAEBNANEE™ mo

HARSH :

REREE : MHEA.

EITNR : 23RN TRES , RFBREKEZLEE,
IEEHD : 1 Z 10 bar,

FRfESs : KBIBEERS , XM , AT,

ZRMNE : 5,

ERNIIEE : ATAT LA T BEERNEEFT X,
Szh#EL - DIN EN 1SO 228/1,

BETHE :
-20 °C Z +80 °C,

SWi

~

1 L1

D2

——

A2__|

P2

]

i
D
D1
D2

[0

L]
]
™~
B
4
=

P1

P2

12000-032025 32 |25 32,5 11,5 3,5/ 47 M10x1,25/12|30| M6 1452226 18 | 8 |4|G1/894 (12,5 - |10 2 |16,5/ 5 458 394

© norelem

www.norelem.com




12000 4T DIN 1SO 15552 ¥R A/

12000-032050 32 |50 32,5 11,5 3,5/ 47 M10x1,25/12/30| M6 1702226 18 | 8 |4|G1/811912,5 - |10 2 |16,5/ 5 458 394
12000-032080, 32 |80 32,5 11,5 3,5/ 47 |[M10x1,2512|30| M6 2002226/ 18 | 8 |4|G1/814912,5 - |10 2 16,5/ 5 458 394
12000-032100| 32 [10032,5 11,5 3,5/ 47 |[M10x1,25(12|30| M6 2202226/ 18 | 8 |4|G1/816912,5 - [10 2 16,5/ 5 458 394
12000-032125 32 112532,5 11,5 3,5/ 47 |M10x1,25/12|30| M6 2452226 18 | 8 |4|G1/819412,5 - |10 2 |16,5/ 5 458 394
12000-032160, 32 [16032,5 11,5 3,5| 47 |[M10x1,25(12|30| M6 2802226/ 18 | 8 |4|G1/822912,5 - |10 2 16,5/ 5 458 394
12000-032200 32 20032,5 11,5 3,5/ 47 |M10x1,25/12/30| M6 3202226 18 | 8 |4|G1/826912,5 - |10 2 |16,5/ 5 458 394
12000-032250, 32 25032,5 11,5 3,5| 47 |M10x1,25|12|30| M6 3702226/ 18 | 8 |4|G1/831912,5 - |10 2 16,5/ 5 458 394
12000-040025 40 |25 38 12,5(7,5/ 54 |M12x1,25/1635| M6 (1602430 22 | 12 |4|G1/4102 14 | - (13 2,5 [16,54.,5 716 601
12000-040050 40 |50 38 12,5(7,5 54 M12x1,25|16|35 M6 1852430 22 | 12 |4|G1/4127) 14 | - |13 2,5 16,54,5 716 601
12000-040080, 40 |80 38 12,5(7,5/ 54 |M12x1,25|1635| M6 2152430 22 | 12 |4|G1/4157| 14 | - (13 2,5 [16,54.,5 716 601
12000-040100 40 1100 38 12,57,5/ 54 |M12x1,25|16|35| M6 2352430 22 | 12 |4 |G1/4177) 14 | - |13 2,5 [16,54,5 716 601
12000-040125 40 (125 38 12,5(7,5| 54 |M12x1,25/16/35| M6 2602430 22 | 12 |4|G1/4202 14 | - |13 2,5 [16,54.,5 716 601
12000-040160, 40 160 38 12,5(7,5/ 54 |M12x1,25|16|35| M6 2952430 22 | 12 |4|G1/4237 14 | - (13 2,5 [16,54,5 716 601
12000-040200 40 200 38 12,57,5/ 54 |M12x1,25|16|35| M6 3352430 22 | 12 |4 |G1/4277| 14 | - |13 2,5 [16,54,5 716 601
12000-040250) 40 250 38 12,5(7,5| 54 |M12x1,25/16/35| M6 3852430 22 | 12 |4|G1/4327 14 | - (13 2,5 [16,54,5 716 601
12000-050025 50 |25 46,513,25 5| 63 | M16x1,5 |20/40| M8 1683237|25,510,5/ 4 |G1/4103 14 | - (17 2,5 [16,54,5 1180 939
12000-050050 50 |50 46,513,255 | 63 | M16x1,5 |20|40| M8 1933237]25,5(10,5/4 |G1/4128/ 14 | - |17 2,5 |16,54,5 1180 939
12000-050080, 50 |80 46,513,25 5 | 63 | M16x1,5 |20/40 M8 2233237/25,510,5/ 4 |G1/4158 14 | - (17 2,5 [16,54.,5 1180 939
12000-050100 50 [10046,513,25/ 5 | 63 | M16x1,5 |20|40| M8 [2433237]25,5(10,5/4 |G1/4178/ 14 | - |17 2,5 [16,54,5 1180 939
12000-050125 50 (12546,513,25 5 | 63 | M16x1,5 |20/40 M8 2683237|25,510,5/4 |G1/4203 14 | - (17 2,5 [16,54,5 1180 939
12000-050160, 50 [16046,513,25 5 | 63 | M16x1,5 |20/40| M8 3033237|25,510,5/4 |G1/4238 14 | - (17 2,5 [16,54,5 1180 939
12000-050200 50 20046,513,25/ 5 | 63 | M16x1,5 |20|40| M8 3433237(25,5(10,5/ 4 |G1/4278/ 14 | - |17 2,5 |16,54,5 1180 939
12000-050250, 50 25046,513,25 5 | 63 | M16x1,5 |20/40 M8 3933237|25,510,5/4 |G1/4328 14 | - (17 2,5 [16,54,5 1180 939
12000-063025 63 [2556,5 8 |9 |74 | M16x1,5 2045 M8 1833237 25 |8,5|4|G3/8106( 20 | 7 |17 2,5 |16,54,5 1775 1596
12000-063050| 63 |5056,5 8 |9 |74 |M16x1,5|20/45 M8 2083237 25 |8,5|4|G3/8131 20 |7 (17 2,5 [16,54,5 1775 1596
12000-063080| 63 |80 56,5 8 |9 |74 |M16x1,5|20/45 M8 2383237 25 |8,5|4|G3/8161 20 | 7 (17 2,5 (16,54,5 1775 1596
12000-063100 63 [10056,5 8 |9 |74 | M16x1,5 |20/45 M8 2583237 25 |8,5|4|G3/8181| 20 | 7 |17 2,5 |16,54,5 1775 1596
12000-063125 63 [12556,5 8 |9 |74 | M16x1,5|20/45 M8 2833237 25 |8,5|4|G3/8206 20 | 7 (17 2,5 [16,54,5 1775 1596
12000-063160 63 [16056,5 8 |9 |74 | M16x1,5 |20[45 M8 3183237 25 |8,5|4|G3/8241| 20 | 7 |17 2,5 16,54,5 1775 1596
12000-063200| 63 20056,5 8 |9 |74 | M16x1,5|20/45 M8 3583237 25 |8,5|4|G3/8281 20 | 7 (17 2,5 [16,54,5 1775 1596
12000-063250| 63 25056,5 8 |9 |74 | M16x1,5|20/45 M8 4083237 25 |8,5|4|G3/8331 20 | 7 (17 2,5 [16,54,5 1775 1596
12000-080025 80 |25 72 9,25|14(93,5 M20x1,5 |25[45M101994046 35 | 10 |4/G3/8116(18,56,522 4 |17 | - 2863 2583
12000-080050, 80 |50 72 9,25|14/93,5 M20x1,5 |25/45M102244046 35 | 10 |4|G3/8141/18,56,5(22 4 |17 | - 2863 2583
12000-080080 80 |80 72 9,25|14(93,5 M20x1,5 |25[45M102544046 35 | 10 |4/G3/8171118,56,522 4 |17 | - 2863 2583
12000-080100, 80 1100 72 9,25|14|93,5 M20x1,5 |25/45M102744046 35 | 10 |4|G3/8191/18,56,5(22 4 |17 | - 2863 2583
12000-080125 80 1125 72 9,25|14/93,5/ M20x1,5 |25/45M102994046 35 | 10 |4|G3/821618,56,5(22 4 |17 | - 2863 2583
12000-080160 80 1160 72 9,25|14(93,5 M20x1,5 |25[45M103344046 35 | 10 |4/G3/8251118,56,522 4 |17 | - 2863 2583
12000-080200, 80 200 72 9,25|14|93,5 M20x1,5 |25/45M103744046 35 | 10 |4|G3/8291/18,56,5(22 4 |17 | - 2863 2583
12000-080250) 80 250 72 9,25|14/93,5/ M20x1,5 |25/45M104244046 35 | 10 |4|G3/8341/18,56,5(22 4 |17 | - 2863 2583

© norelem www.norelem.com



